
1.0 GENERAL 
1.1  ALL METRIC DIMENSIONS ARE IN BRACKETS

2.0 DESIGN NOTES
2.1 DESIGNED PER CUSTOMER REQUIREMENTS
2.2 WILL FIT 12" - 45" MONOPOLE

3.0 MANUFACTURING/SPECIAL REQUIREMENTS
4.0 TEST
5.0 PACKAGING

2

1

4 3

EXISTING MONOPOLE
FITS 12"-45" MONOPOLE

6

6.0 152

6.0 15211.0 27911.9 302

REVISIONS
REV. ECN DESCRIPTION BY DATE

A 8000040262 INITIAL RELEASE MRC 05/28/20

ITEM NO. PART NUMBER DESCRIPTION QTY.

1 MTC4104-0100 WELDMENT, RINGMOUNT 12"-45" 3
2 MT38248 5/8" X 48" GALV THREADED ROD 6
3 GWL-05 5/8" GALV LOCK WASHER 12
4 GN-05 5/8" GALV HEX NUT 12

6 GWF05A GALV FLAT WASHER HARDENED 5/8", 1.3OD 12

1234

1234

A

B

C

D D

C

A

B

NOTES:

lbs/in³
lbs

in³
in²

±

104.17
BCROSS

1 OF 1WIDTH
LENGTH
HEIGHT

MRC

521.54VOLUME 08/07/2020RE

BCAMPBELLCON 08/07/2020AD
RV

MC1107RW 07/23/2020
05/28/20

COMMSCOPE, INC. OF NORTH CAROLINA

MONOPOLE COLLAR MOUNT ASSEMBLY 

VZWSMART-PLK7

RE01RE01

24
008000040262

DENSITY
MASS

UN
LE

SS
 O

TH
ER

W
IS

E 
SP

EC
IF

IE
D

DI
ME

NS
IO

NS
 A

RE
 IN

 IN
CH

ES
IN

TE
RP

RE
T 

PE
R 

AN
SI

 Y
 14

.5M
-1

99
4

CE

WORK AREA
ECN

DRAWING SHEETMODEL

SCALE

SIZE

ANGLES
X ±
.X ±

.XX ±

MATERIAL

.25
0.12

0.06
2°

A1011/A1018, A500,A529

C

2 PLACE
1 PLACE
0 PLACE

REVISION

TOLERANCES

STATUSVERSION REVISIONSTATUSVERSION

DOCUMENT NO.

1:4

GALV A123
FINISH

SURFACE AREA 4659.69

TITLENAME DATE

SAP MATERIAL MASTER

VZWSMART-PLK7

C 2020 CommScope, Inc.


	Sheet1
	Drawing View1
	Drawing View2


